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Maths Knowledge Organiser

Year 5: Multiplication .and Division

Prior Knowledge (vi unit 5, 6)

Structures and Representations

Recall multiplication .and division facts up to 12 x
12

Mudtiply .and divide mentally by multiples of 10 .and
100

Multiply by O and |; divide by |;

Prohlem solving - addition .and multiplication;
mixed problems

Understand the meaning of the equals sign
Multiply tw.o-digit and three-digit rumbers by a
one-digit number using formal written method
(column)

Divide tw.o-digit .and three-digit numbers by a one-
digit rumber using formal written method

Arroys Factor Trees
00000 12
00000 //\\
00000 3 . 4

Multiplication Grid
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Recognise and wse factor pairs and commutativity

27

in mental calculations

17
| x |17

Multiples and Factors

A multiple is a rumber which can he

remainder.

Multiples of 5= 5,1 0, 1 5,2 0, 2 5 3 0

Factors .are whole nuumhber that can
multiply by other whole numbers to

make the product.

Prime Numbers
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9
9
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A whole nuumber
greater than |,
Adivisible only by
itself and |.

2 is the only even
prime number.

+ There .are no prime
nuwmbers that end in
5, except for 5.

+ The digits can't .add
up to 3, except 3.
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The foctors of 20 are 1, 2, 4, 5, 10 and 20,
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20 The factor pairs are:
1 and 20
2 qnd 10
& and 5
Foctors of &
2
6
13
A common factor 15

is a factor of 2 .

or more numbers. Factors of 15




‘,’f;’f“ﬁ'é Maths Knowledge Organiser Year 5: Multiplication .and Division

Squared? and Cubed? Numhbers Using Related Facts Short Division
7 x0.5 2400 = 6 You can
7x5=35 24+6=4 - - check mith
\: 10 4 =10 \ ¥ \ x . 3 the irwerse
\ \ E‘ 100 l"'-*‘] 0o 4 1 5 2 ,opzr,aﬂ,on
7x05=35 2400 = 6 = 400 (short
multiplication)
See if there is a known multiplication 15 + & = 3 remainder 3 38 x 4 = |52
) ) ) or division fact you con use.
2P=4 22 =8 5% =25 5% =125 Remember to regroup any
2x2=4 2x2x2=8 5 x 5= 25 5x5x5=125 gﬁﬁf W&Jﬁgz,,oém remainders and move them into
J'dUl'g ’ he next column.
to adjust the answer. t t
b-digit x |-digit (Short Multiplication) b-digit x 2-digit (Long Multiplication)
[. Multiply
X 815 % ,om,d,bgbtbjwﬂlz 3 2 Long multiplication lets ws multi-digit
multiplier. Corry 25 3 3 Mulki X luﬁﬂ together.
2 the extra digit 4 . the hundr , . o
- needed. X . the I, C This calculation is the same as
. 6 | digh by 4 2 doing 32 x 5 = 160 and
511 8 A,d,d.,o,ruy 32 x 40 = 1280, then adding them
2. Muittplg the —; ] the carried. 9 -:".'_:u . ."--__:' ,to,gzt}w to make 1440.
. 8 5 3 ,tejvs,,d,bg,bt ,{)&{J’d’dﬂw d.l.gl.b& i - -I| - T)LQ, wa
g 6 %@ 1 2 8 0 mehich shows thak in the second half
-5 digis” Carey the < O L '\ of the calculation, we are multiplying
- 2K ,ad,ug,utj} by 40, not k.
e 853 x 6 = 5118




